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1) There is a tremendous gap between youth and the elderly in all the following EXCEPT:
A) volunteering 						B) political interest
C) political knowledge					D) political participation
2) Government is defined as the
	A) organization that brings problems to the attention of public officials.
	B) institutions through which public policies are made for society.
C) body that is concerned with economic problems while leaving social               
problems to other institutions of society.
D) agency that implements policies that have been enacted by other 
institutions of the political system
E) executive branch and its agencies
3) The formal institutions of the American nation government include all of  the following EXCEPT:
	A) Congress
	B) the Presidency
	C) the Supreme Court
	D) political parties
	E) the Senate
5) A public good is defined as
	A) a public policy that is good for the nation as a whole
B) something provided by the government that cannot be provided by the           
private sector
C) something in which any member of society can share
D) a choice that government makes in response to a political issue
E) All of these



6) Which of the following statements about public goods is false?
	A) Public goods are things that everyone can share
	B) Public goods are indivisible and non exclusive
	C) Individuals have powerful incentives to provide public goods
	D) Public goods are not profitable
7) All governments
	A) guarantee a capitalist economy and collect taxes
	B) maintain national parks and national defense
	C) ensure safety on the high seas and promote free enterprise
       	D) provide public goods and socialize citizens into the political and social system 
	E) hold elections

8) Which of the following statements about taxes is true?
	A) One out of every three dollars earned by an American citizen is used to pay taxes
	B) Despite the image presented by the media, survey data reveal that Americans feel they 
are getting their money’s worth for the taxes they pay
	C) The tax burden in the United States is higher then most other democratic nations
	D) About one-tenth of the average American citizen’s salary goes to taxes
	E) All of these are true
9) An interest group so single-minded that is members often vote on only one issue, ignoring a politician’s stand on everything else is known as
	A) a single-issue group
	B) a uni-issue group
	C) a mono-issue group
	D) a one-issue group
	E) a hot-button group
11) Politics is defined as
	A) a course of action to solve a problem.
	B) conflict in society.
	C) who gets what, when, and how.
	D) the resolution of conflict in a way that serves the public.
	E) the exercise of power
12) Which of the following best describes voter turnout in the United States?
	A) Voters are usually a microcosm of the entire body of American citizens
	B) Among democratic nations, the United States leads the world in voter turnout.
	C) Most American voters consider politics as critical to their interests.
	D) The United States has one of the lowest voter turnout rates in the world.
	E) Voter turnout in the United States is constitutionally mandated.
13) The list of problems to which political leaders are paying serious attention is a(n)
	A) policy agenda.
	B) issue constellation.
	C) problem set.
	D) legislative package.
	E) none of these.
14) Which of the following is most effective in getting an issue on the policy agenda.
	A) A policymaking system
	B) Democracy
	C) A constellation
	D) Government
	E) The bureaucracy
15) An example of public policymaking would be
	A) a majority of the public supporting the idea of government dealing with 
unemployment.
B) the President meeting with head of oil companies.
C) Congress and the President deciding not to act on the AIDS crisis.
D) the press creating public concern about racial discrimination
E) All of these.

16) A set of institutions and activities that link together government, policies, and public policy 
is
A) political decision making.
B) A policymaking system.
C) A policy agenda.
D) A linkage institution.
E) A government.
19) Public policy is defined as a
	A) choice that Government makes in response to an issue
	B) course of action to solve a problem
	C) policy directed at more then one person
	D) course of action by a political party
	E) set of rule and regulations issued by a government agency
20) Political issues
	A) are limited in number in the United States.
	B) are always acted upon by the government.
	C) usually emerge out of group consensus on a problem.
	D) arise when people disagree about a problem or public policy choices made to combat 
a problem.
E) All of these.
22) In a democratic society, political parties, elections, interest groups and the media are all examples of __________ between the preferences of citizens and the governments policy agenda. 
	A) linkage institutions
	B) obstacles
	C) cross-pollination
	D) ideological recombinance
	E) inputs and outputs
23) Which of these is a linkage institution?
	A) USA today
	B) the ambassador to France
	C) the President’s cabinet
	D) the House of Representatives
	E) All of these
24) The institution that is not mentioned in the Constitution, exerts so much power that many refer to it as a policymaking institution is
	A) Congress
	B) the media.
	C) state governments
	D) the bureaucracy
26) The writers of the U.S Constitution (think elite & class theory, not James Madison)
	A) were distrustful of democracy
	B) sought to establish the most democratic system the could
	C) were interested in promoting equality above all else
	D) believed in majority rule
	E) patterned out government after Britain’s except for the king
27) A means of selecting policymakers and or organizing government so that policy represents and responds to citizens’ preference is
	A) democracy
	B) government
	C) politics
	D) public administration
	E) All of these
28) Which of these is not a criteria of traditional democratic theory (as formulated by Robert Dahl)?
	A) Citizens must make rational choices
	B) Citizenship must be open to all within a nation
C) Those who participate in political organizations must be representative of the general population
D) freedom of speech and press
E) One person gets to vote
29) Two of the most important principles of democratic theory are majority rule and
	A) minority rights
	B) the plurality rule 
	C) Roberts’ Rules of order
	D) majority restraint
	E) judicial review
30) Which of the following takes the most positive view of democracy in the United States?
	A) pluralist theory
	B) hyperpluralism
	C) democratic positivism
	D) elite theory
	E) democratic centralism
31) Pluralist theory contends that in the United States
	A) many groups vie for power with no one set of groups dominating
	B) society is governed solely by an upper-class elite
	C) too many influential groups cripple governments ability to govern
D) because most citizens fail to pay attention to serious issues, government has become an elite institution
E) the many members of Congress dominate a singular official such as President
32) All of the following are ingredients of a pluralistic democracy EXCEPT:
	A) bargaining and compromise
	B) multiple access points to policy makers  (This means that interest groups can 
influence the government in many different areas.  Ex. There are 14,000 different governments that can be influenced.  Also, within each government, the Sierra Club can win in a court decision while business interests can influence policy making in Congress.)
	C) majority rule
	D) group competition  for policy benefits
	E) absolute freedoms


33) The most fundamental element of democratic theory is
	A) majority rule
	B) equality
	C) multiple access points to policymakers
	D) access to information
	E) power of the people!
34) Representation refers to
	A) the protection of the minority rights in a pluralist system.
	B) majority rule.
	C) the correspondence between the few leaders and the many followers in a democracy
	D) electing office-holders in fair and free elections.
35) American government is viewed most positively by the
	A) elite and class theory
	B) hyperpluralist theory
	C) pluralist theory
	D) socialist theory
	E) positivist philosophy
36) Which of the following is most fundamentally critical of American democracy?
	A) elite and class theory
	B) pluralist theory
	C) traditional democratic theory
	D) critical democratic theory
37) Many elite and class theorists believe that _______ of Americans control most government policy decisions
	A) one percent
	B) majority
	C) five percent
	D) ten percent
	E) the vast middle class
38) Over a third of America’s wealth is owned by
	A) one percent of the population
	B) Japanese investors
	C) the U.S government
	D) a third of the population
	E) seven percent of the population
39) At the center of all theories of elite domination of politics is
	A) big business
	B) the President
	C) the Congress
	D) the Trilateral Commission
	E) the nouveau riche





40) Elite and class theory holds that
	A) power is dispersed among many institutions
	B) there is little consensus in policymaking institutions
	C) all societies are divided along class lines and that an upper-class elite will rule
	D) politics is the basis of elite power
E) in a democracy the majority class must overthrow the government and rule by itself if 
government is to be freed from the control of the rich
41) Hyperpluralists believe that the dominant player in American politics is
	A) groups
	B) the President
	C) the government
	D) rich individual
	E) the media
42) In evaluating American democracy, hyperpluralists 
	A) claim the too many influential groups cripple government’s ability to govern.
	B) claim that society is governed solely by an upper class
C) claim that competing groups vying for power make for generally efficient, honest government
D) believe that the public interest is nearly always translated into public policy in the United States
E) None of these
43) The nature of the groups and the Government in hyperpluralist theory is
	A) weak groups and strong Government
	B) weak groups, strong elite, and weak government
	C) strong groups and weak government
	D) strong government and strong groups
	E) too few groups result in the creation of many governments
45) PAC stands for
	A) Political Action Committee
	B) Party Affairs Council
	C) Partisan Assistance Commission
	D) Policy Advisory Commission
	E) Politically Active Constituency
46) People who worry about PACs are most especially concerned about
	A) the close connection between money and politics.
	B) single-issue voters.
	C) the decline in American voter turnout.
	D) too much democracy being dangerous to social stability.
	E) the role Party Affairs Councils plays in elections.
47) The ability of groups to prevent the government from taking actions adverse to their interests leads to what the text calls (especially under the hyperpluralist theory)
	A) policy gridlock
	B) elite dominance
	C) enlightened understanding
	D) budget deficits
	E) Dahl’s “ideal democratic process”
48) President Clinton’s health care proposal failed because
	A) the democrats did not control both houses of Congress
	B) the American public did not believe that anything needed to be changed
	C) the administration did not make a legislative priority
	D) various interests opposed the comprehensive proposal
49) National, state, and local governments in America spend ________ of the gross domestic product.
	A) one third
	B) all
	C) none
	D) 10%
	E) 3%
50) The United States government owns ________ of the land in the U.S.
	A) one third
	B) all
	C) none
	D) 2%
	E) 5%
51) Altogether, our governments spend about one out of every
	A) two dollars of our gross domestic product
	B) three dollars of our gross domestic product
	C) four dollars of our gross domestic product
	D) five dollars of our gross domestic product
	E) six dollars of our gross domestic product
52) The largest item in the U.S. government budget, consuming more than one-fifth of spending is
	A) social security payments.
	B) national defense.
	C) foreign aid.
	D) education spending.
	E) welfare for the poor.
53) In general, conservatives in the United States today
A) favor greater governmental power to prohibit abortions and allow prayers in public schools.
B) favor greater government action to help expand opportunities for poor people, minorities, and women.
C) favor more policies to redistribute income, through taxation, from those with more to those with less.
D) favor more regulation of the economy in order to promote higher profits for business owners.
E) favor all of these





54) Which of the following policies would most conservatives oppose?
	A) tougher consumer protection and environmental laws
	B) tougher restrictions on abortion
	C) fewer governmental regulations on business
	D) lowering the tax rate on capital gains
	E) reduction of government-funded student loans and grants
55) Those who favor increased government regulation of the economy to promote such goals as worker safety, consumer protection, and a pollution-free environment are considered
	A) liberals
	B) naïve
	C) libertarians
	D) conservatives
	E) regulationists
56) Most liberals in the United States today favor
	A) keeping abortion legal
B) increased government involvement in limiting individual freedom in non-economic   matters
C) fewer governmental regulations and a greater reliance on the free market to provide such things as jobs
D) fewer tax laws that discourage business growth by establishing high rates for capital investment
E) abolishing affirmative action programs
57) Conservatives would typically favor using the power of government to
	A) help disadvantaged groups
	B) redistribute income
	C) restrict or prohibit abortions
	D) protect consumers
	E) All of these
58) Which country does NOT have a system of national insurance that provides most health care?
	A) United States
	B) Great Britain
	C) Japan
	D) Germany
	E) Canada
59) Relative to the other industrialized democracies, the scope of American government
	A) is small
	B) does not exist
	C) is about the same
	D) is much larger
60) One of the primary reasons for the comparatively small scope of American Government is
	A) individualism
	B) capitalism
	C) liberalism
	D) pluralism
	E) judicial review

Chapter Answers 1-60:  (Some have been omitted on purpose)
1.) A 	2.) B 	3.) D 	5.) C 	6.) C 	7.) D 	8.) A 	9.) A 	11.) C 	12.) A 	13.) A 	14.) D 15.) C 16.) D 	19.) A 	20.) D 	22.) A  23.) A 	24.) D 	25.) D 	26.) A 	27.) A 	28.) A 	29.) A 	30.) A 	31.) A 32.) C  33.) A 	34.) C 	35.) C 	36.) A 	37.) A 	38.) A 	39.) A 	40.) C 	41.) A 	42.) A 	43.) C 	45.) A 46.) A 	47.) A 	48.) D 	49.) A 	50.) A 	51.) B 	52.) A 	53.) A 	54.) A 	55.) A 	56.) A 	57.) C 	58.) A 59.) A 	60.) A
